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温度計E

0.245Wのとき…
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heat load test（4th）
• Tmass - Tcopper =1.6K
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　  On the internet, I found the aluminium tape can 
prevent only 97% of the radiation  

(So 3%（about 25mW） goes through the tape).



heat load test(4th)
• There is an “extra” heat load(Pextra(W)). 

• If I give the heater 0.25W, the real heat load is 
0.25+Pextra(W). 

• 0.25+Pextra is larger than 0.25, so if Tmass is low enough in 
this condition (P=0.25+Pextra), it means that Tmass is low 
enough when the real heat load is 0.25W, so it also means 
that bKAGRA requirement is satisfied. 

• So I started the heat load test. 

• I will show the result in the next meeting.
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homework
The temperature of sensor F should be 77.3K. 

When I used the current supply and the multimeter, 
it was about 77.6K. 

It was because I used the linear approximation. 
I used the Chebyshev’s polynomial.
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homework
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by LS218 by measuring voltage



Chebyshev’s polynomial

• TF=77.35(K)
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Future work

• We will finish the heat load test this week. 

• After this test, we will start the Q 
measurement of one fiber prototype again. 
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heat load test（4th）
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http://www.e-lifetech.com/syanetu-towa.html

http://www.e-lifetech.com/syanetu-towa.html


heat load（4th）
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heat load test(3th)

13



Result（3th）
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We confirmed the speed of all temperatures became 
constant.  

(The graph is shown on the next slide)


